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Note: Carrying of mobile phone during examinations will be treated as case of un

(i) All questions are compulsory. M%fé?
& Q‘i

(ii) For numerical problems write in detail all the steps needed for the‘a%sa[,&tmz%
@ " 4
(iii) Use of IS 800:2007 and steel table/ SP6(1) is allowed in thea%xai%\

(iv) Missing data if any may be assumed suitably. N %»ﬁ%

when used as a column.

2. Give basic difference in/
loads?

r?ﬁémber based on:
8. Slender members

9. Compact members



Section B
(3 X 4.5 =13.5Marks)

1. A tie member consists of 2 ISMC 200. The channels are connected on either side of a
10mm thick gusset plate. Design the welded joint to develop the full strength of the tie. .

The overlap is to be limited to 350 mm.

2. (a) A column height 4.5m is hinged at the ends. It is square in cross sect%)
a

R, §

350mm and consists of 4 angles of ISA 80x80x10mm at each co

3. (a) Differentiate between the bending and buckllnﬁ%:}heam

&a?“fects the member strength? How is

it avoided? %
(¢) Why is the plastic method of desi gn@nora’%»u ful for redundant structures than the
determinate structures?

2. A teiasmmm%mber of a truss consisting of a single channel is subjected to a factored
tegsmn‘@f 450KN, Design the channel sectlon and connection of the member to a gusset

’ﬁemgn a simply supported beam of 5m span carrying a reinforced concrete floor capable
* of providing a lateral restraint to the top compression flange. The total udl is made up of
90kN dead load including self-weight plus 120kN imposed load. In addition the beam
carries a point load at mid span made up of 50kN dead load and S0kN imposed load
(assuming a stiff bearing length of 65mm).



